| > restart: # BaseStock6-Corrected.mws

> c:=4; h:=7; b:=10; Low:=0; Hi:=15; f:=w->1/(Hi-Low);
c:=4
h:=7
b:=10
Low:=10
Hi := 15

f::WI—)

1)

i Hi — Low
> EV[2] :=unapply(0,x);

I EV,:=x—0 2)
> Li=unapply (h*Int((y-w)*f(w) ,w=0..y)+b*int((w-y)*f(w) ,w=y. .HI),y);
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b:yH-%a+75—3i%%4ﬂ 3)

> plot(L(y),y=-10.15)
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> G[1]:=unapply(c*y+L()+EVIZ1(Y).Y)

2
2y (15 —
Gl:=y|—>4y—-]%+75——(%ﬂ (4)




> plot(G[1](y),y=-10..15)
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> S[1]:=solve(diff(G[1]1(Y).,Y),Yy); evalt(%);
— 90
ST
i 5.294117647 ®)
> mu[l] := piecewise(x < S[1],S[1]—x,0);
90 90
T 17 17 (6)
0 otherwise

=> plot(mu[1], x=-10..15)
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=> V[1]:=unapply(piecewise(xX<S[1],c*(S[1]-x)+L(S[1]),simplify(L(X))
).X);
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— X"+ 75—10x otherwise
i 30
> V[1]1(¥);
1005 90
17 A X<717
(8)
17 > )
5 X"+ 75—10x otherwise

> plot(V[1](x), x=-10.15)
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B Vyw:=V[1](y-w);
1005 90
17 —4y+4w y—w< 17
——%%lﬂ—+75—my+iow otherwise

E op(1,Vyw); op(2,Vyw); op(3,Vyw);

+75—-10y +10w (10)

=> EV[1] :=unapply(int(op(3,Vyw)*f(w),w=0..y-S[1]D+int(op(2,Vyw)*T
(W),W=y—S[1]--15)§y): ,
_ 0 17y 2y (90 2(,_ 90
17(y 17) +( 225+3)(y 17) +17y(y 17)+18y

EV, :=
17 =Y 1350 2 450 17

(11)
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i 289 3 15 15
> simplify(EVI[11(y));
17 3 1, 50, 25215
i w0 Y 5 Y 7Y e
> G[O] :=unapply(c*y+L(y)+EV[1]1(Y).Y);
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i 15 15
> simplify(GLO1(Y)):
152 6890 . 17 3
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_ "7 Y30 Y + 289 ' 1350
> plot(G[0](y),y=-10..15)
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] y
> eval f(solve(diFF(GLO1(Y).y).y)): S[0]:=4[1];

8.484289527, —27.89605423
Sy = 8.484289527 (15)

> mu[0] := piecewise(x < S[0], S[0]-x, 0)
8484289527 —x X < 8.484289527
Hy = (16)

0 otherwise

> plot(mu[0], x =-10..15)
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